

ACROSS

- $[32 + (23 \times 5)] \div 3 =$
- $4(987 - 240) =$
- $(12 \times 13) - (8 \times 7) =$
- $(169 \div 13) + (1,098 \div 9) =$
- $1,512 \times 6 =$
- $762 - 135 + 715 =$
- $312 \times 14 =$
- $2,666 \times 4 =$
- $(1,119 \div 3) + (10,546 \div 2) =$
- $(58 \times 3) - (8 \times 12) =$

DOWN

- $98 + (20,125 \div 5) - 25 =$
- $(17 \times 12) + (11 \times 5) =$
- $(7,232 \times 3) - 696 =$
- $9 \times 7 \times 4 =$
- $37,481 - 2,123 =$
- $2,763 \div 3 =$
- $(85 \times 3) + 181 =$
- $(89 - 7) \times (8 + 4) =$
- $(352 \div 4) + (8 \times 9) =$
- $9,075 - 4,642 =$
- $32 + 9 - 11 + 36 =$

Calculation Crisscross

Use the clues to fill in the crossword.



